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PLAYER ( ouT IN ) TOTAL HD NET PLAYER ( ouT IN ) TOTAL HD NET
1T X & &% B O( 37 41 ) 78 7.2 70.8 1 M T % =73 ( 42 4 ) 86 132 728
2 A H # 2 ( # 37 ) 18 6 72 2 B R X @& ( 39 40 ) 79 48 742
3 B b £ B ( 43 44 ) 87 14.4 72.6 3 E N F sh ( 46 47 ) 93 168  76.2
4 B H f % ( 5 47 ) 97 18 79 4 [ E = B (47 43 ) 90 132  76.8
& & (kfL3s) 2154 S & & (LkfZ3s) 2232'S
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PLAYER ( ouT IN ) TOTAL HD NET PLAYER ( ouT IN ) TOTAL HD NET
1 + m  # (43 48 ) 91 22.8 68.2 1 m AN F — ( 42 46 ) 88 18 70
2 B R B B ( 4 49 ) 92 18 74 2 @Bl H 2 (48 58 ) 106 30 76
3 kA< K HH ( 5 43 ) 94 19.2 74.8 3 /M FE B & ( 50 49 ) 99 216 774
4 2 # & # ( 50 51 ) 101 24 77 4 = K & E ( 54 56 ) 110 30 80
& & (Lkfz3s) 217 S & &t (LI 34) 2234 S
3 fif 14 I
* 2 E 2 I % B ® C # M = % = 5
PLAYER ( ouT IN ) TOTAL HD NET PLAYER ( ouT IN ) TOTAL HD NET
1 F & ® " ( 45 43 ) 88 16.8 71.2 1 MmN % OB (43 50 ) 93 192 738
2 W FT &® = ( 36 40 ) 76 36 72.4 2 E B A B ( 44 45 ) 89 144 746
3 A &KX E F ( 42 40 ) 82 8.4 73.6 3 K E E B ( 50 47 ) 97 216 754
4 H & & 7 ( 46 44 ) 90 12 78 4 E I’ B X ( 52 4 ) 96 18 78
& &t (LfI3f) 2172 'S & &t (LI 3%) 2238 S
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PLAYER ( ouT IN ) TOTAL HD NET PLAYER ( ouT IN ) TOTAL HD NET
1 #% H 2 O( M 42 ) 83 10.8 72.2 1T B A M ( 44 53 ) 97 228 742
2 ®1 Nl F K ( 36 46 ) 82 9.6 72.4 2 B B ® B ( 53 57 ) 110 348 752
3 F B ZE th ( 48 45 ) 93 204 72.6 3 Ik k M (49 52 ) 101 252 758
4 Hh M = F ( 52 53 ) 105 31.2 73.8 4 1B & & (49 51 ) 100 228 712
& & (kfz3s) 2172 S & i (Lkfz3z) 2252 S
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PLAYER ( ouT IN ) TOTAL HD NET PLAYER ( ouT IN ) TOTAL HD NET
1T F Tt A — ( 39 43 ) 82 10.8 71.2 1T XK B & 2 ( 43 4 ) 87 132 738
2 I R B O( 40 41 ) 81 9.6 71.4 2 R F OB A ( 49 47 ) 96 204 756
3 EBEH B & % ( 45 40 ) 85 9.6 75.4 3 %2 H ® F ( 49 45 ) 94 18 76
4 ZHE EHE ( 51 53 ) 104 26.4 77.6 4 K ¥ B OB ( 52 57 ) 109 252 838
& &t (LEfI3%) 218 S & i (kfZ3s) 2254 S
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PLAYER ( ouT IN ) TOTAL HD NET PLAYER ( ouT IN )  TOTAL HD NET
1 B B FE B ( 37 43 ) 80 7.2 72.8 1T = HE ( 4 38 ) 82 12 70
2 XKAR EfE ( 47 43 ) 90 16.8 73.2 2 & @A % =— ( 51 46 ) 97 192 778
3 HmEH E—B ( 46 49 ) 95 21.6 73.4 3 & A ® (47 45 ) 92 132 788
4 B XK F BB ( 46 4 ) 90 15.6 74.4 4 A X & F ( 48 51 ) 99 192  79.8
& & (Lkfz3s) 2194 S & i (kfZ3s) 226.6 S
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PLAYER ( ouT IN ) TOTAL HD NET PLAYER ( ouT IN )  TOTAL HD NET
1 2 H ( 39 4 ) 83 12 71 1 XK W F sh ( 39 40 ) 79 7.2 71.8
2 X @B B th ( 49 49 ) 98 25.2 72.8 2 F W E# & ( 48 46 ) 94 19.2 748
3 WX & FE (52 49 ) 101 25.2 75.8 3 WX #H = ( 55 61 ) 116 348 812
4 H ¥ %% ¥ ( 62 58 ) 120 36 84 4 A H & m (47 56 ) 103 192 838
& & (Lkfz34) 2196 S & i (kfz3s) 2278 S
8 fir 19 fI
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PLAYER ( ouT IN ) TOTAL HD NET PLAYER ( ouT IN )  TOTAL HD NET
T & F# = ( 42 44 ) 86 14.4 71.6 1T @ f& X #M ( 44 47 ) 91 16.8 742
2 [ W f & ( 4 39 ) 83 9.6 73.4 2 it E O OH N ( 46 52 ) 98 228 752
3 M A L B ( 5 50 ) 102 26.4 75.6 3 B 3 M F ( 48 52 ) 100 204 796
4 B M IE m ( 47 46 ) 93 16.8 76.2 4 X % # Z ( 50 53 ) 103 228 802
& & (Lkfz34) 2206 S & it (Lkfz3s) 229 S
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PLAYER ( ouT IN ) TOTAL HD NET PLAYER ( ouT IN ) TOTAL HD NET
1 & B X # ( 43 45 ) 88 15.6 72.4 1T HF %k ® X ( 53 46 ) 99 228  76.2
2 B B #& = ( 37 39 ) 76 24 73.6 2 B ] - ( 49 55 ) 104 276 764
3 = % B B ( 4 40 ) 82 7.2 74.8 3 @ JIIl i & ( 53 57 ) 110 336 764
4 E @A # #H ( 50 51 ) 101 24 77 4 & B = sh ( 45 40 ) 85 84 766
& & (Lkfz3s) 2208 S & & (Lkfz3s) 229 S
10 £ 21 fir
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PLAYER ( out IN )  TOTAL HD NET PLAYER ( out IN ) TOTAL HD NET
1T I MK F x ( 34 38 ) 72 1.2 70.8 1 EE FHKF ( 48 52 ) 100 24 76
2 B T & ( 45 48 ) 93 18 75 2 & B o %= ( 54 45 ) 99 216 714
3 WX X #E ( 49 46 ) 95 19.2 75.8 3 AR B T ( 46 51 ) 97 16.8  80.2
4 BT B—B8B ( 47 46 ) 93 12 81 4 ( )
& &t (LEfI3%) 2216 S & i (kfZ3s) 2336 S
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PLAYER ( ouT IN ) TOTAL HD NET
1 & kK =2 ( 48 52 ) 100 26.4 73.6
2 &% K B F ( 49 50 ) 99 25.2 73.8
3 &= M B — ( 39 34 ) 73 -1.2 74.2
4 & )l F % ( 49 53 ) 102 228 79.2
& &t (LfI3f) 2216 S

*EITRERESMF—LTYT

REBBICTEMOF—LIAHDE
BYERYELGYFET



